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ABAIZ 100 Olat CFU/mL 1,2-0UE2R-3-2228= 0.003 Olat mg/L
SHE=Z =EE /100 mL | 1,4-COI=S4H 0.05 0I5t mg/L
SALMUEZZD 245 /100 mL | AHE 300 0I5t mg/L
=1 0.01 Ol&t mg/L WAL EAHIE 10 Olat mg/L
=4 1.5 Olat mg/L HA us o
Hiz 0.01 Olgt mg/L gt AHS =
ddis 0.01 0l&t mg/L T2 S) 1 Olat 0.007 mg/L
=2 0.001 Olot mg/L M 5 Olot ==
Algt 0.01 Qlat mg/L A 0.5 0I5t mg/L
3& 0.05 0I5t mg/L *=a0128% 5.8 ~8.5 =
ASLIOIE B A 0.5 0I5t = mg/L ot 3 Ol&t 0.018 mg/L
B A 10 Olst mg/L da0l2 250 Olat 7.6 mg/L
eS8 0.005 Olat mg/L SEHARE 500 Ol&t mg/L
a4 1 0I5t mg/L =] 0.3 0I5t EZE mg/L
H=: 0.005 0I5t mg/L 2t 0.05 Olot | 2= | mg/L
CtOlOFKl= 0.02 Oldt mg/L S 0.5 0Olat NTU
netele 0.06 0I5t mg/L EAQIR 200 oI5t mg/L
HLEZER= 0.04 Olst mg/L 2201 0.2 0I5k mg/L
Jtoie 0.07 Olot mg/L Se|FEHA 4.0 0I5t 0.68 mg/L
1.1, 1-EcIZ2220& 0.1 0I5t mg/L EECIZZNE 1 0I5t mg/L
HERIZZ20 s 0.01 Ol5k mg/L Lt 0.08 0I5t mg/L
EcIZZ220I= 0.03 Ol5k mg/L ERDLSZ20E 0.03 Oi5t mg/L
CIZ2ZMIE 0.02 Olat mg/L LEZD2Z22MHE 0.1 0I5t mg/L
S 0.01 Olat mg/L 2225610/=dI01E 0.03 0Ol&t mg/L
S0 0.7 0I5t mg/L LEZD0MELIER 0.1 Olst mg/L
Ol HIE 0.3 Olat mg/L CE220NELIEH 0.09 0I5t mg/L
alEl 0.5 0I5t mg/L ECIZZ220IMELIEE 0.004 oOldt mg/L
1-CE22=0 0.03 Olat mg/L SZOLMEAIS 0.1 0I5t mg/L
AtSE3IE A 0.002 0I&t mg/L HEELCIGI=E 0.5 0I5t mg/L
sSEad 0.01 OISt mg/L s 0.03 0I5t mg/L
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BN 100 OISt 0 CFU/mL 1,2-ClE2R-3-2= 0.003 0I5t mg/L
EHEE=2 sZE =dE | /100 mL | 1,4-ClOI=AH 0.05 OI&t mg/L
ALY == sdE |/100nm | 2= 300 olIGt mg/L
=1 0.01 0I5t = mg/L DU EAHIE 10 013t mg/L
=5 1.5 0l&t - mg/L WA s =
a] EAS 0.01 Ol3t - mg/L ot AnS =
s 0.01 0l&} - mg/L Fel(s) 1 0I5t mg/L
=2 0.001 Olct - mg/L M 5 0I5t =
Alot 0.01 oot . mg/L HIXI 0.5 Olot mg/L
s 0.05 olat - mg/L 401255 5.8 ~8.5 -
AELIOF A A 0.5 015+ 2HE mg/L OFed 3 Olat mg/L
MgEA 10 0I5t = mg/L Fa0l2 250 0I5t mg/L
Sl 0.005 ofat - mg/L BUNZE 500 Olst mg/L
= 1 0I5t - mg/L E=| 0.3 Olat =& mg/L
H=S 0.005 Olat = mg/L 2t 0.05 Olat 2HE mg/L
CHOIOKI= 0.02 olat = mg/L g§c 0.5 olat NTU
ntetele 0.06 0I5t <= mg/L A2 200 0|5t mg/L
HULEZEIZ2 0.04 015t . mg/L 220= 0.2 Ol5t mg/L
FHatd 0.07 olst - mg/L FeldREA 4.0 0I5t mg/L
1.1, 1-ECIS=Z20E 0.1 0I5t . mg/L EECIEZ0E 0.1 Olat mg/L
HEcIZ2=0d 0.01 Olot = mg/L SEEILES 0.08 OlI&t mg/L
ECIZZ20g 0.03 0I5t = mg/L SZLLSZZ2HE 0.03 0I5t mg/L
CIZ22 20 0.02 Olat = mg/L CEZES22HE 0.1 olat mg/L
HE 0.01 Olot - mg/L 2510|=HI0IE 0.03 Ol&} mg/L
S0l 0.7 olst - mg/L LEZROMELEH 0.1 0I5t mg/L
ol 0.3 0I5t = mg/L CI2ZZ0MELIEY 0.09 Olat mg/L
alal 0.5 0I5t = mg/L ECI2Z20MELIEE 0.004 OI&t mg/L
1, 1-CIZ22012d 0.03 Olat - mg/L SZ20tMIEINIAIS 0.1 Ofst mg/L
AtEaters 0.002 Olot < mg/L EEAOBIE 0.5 Olat mg/L
88 846Y 0.01 oI5t - mg/L s (.03 Olgt mg/L
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ety by 100 OISt 0 CFU/mL 1,2-CIB22-3-E2=4Z T 0.003 Ol5t - mg/L
S22 EUE EZE | /100 m | 1,4-Ci0I=t 0.05 Olot - mg/L
ZALAHEIZ == SHE | /100m | BE 300 Olat ~ mg/L
= 0.01 Olat = mg/L U HAZIF A S 10 013t = mg/L
E4 1.5 0I5t = mg/L A A2 = -
HiA 0.01 Olat = mg/L St AUS = =
delis 0.01 Olat = mg/L Fe(S) 1 Ol&t 0.008 mg/L
=2 0.001 otst - mg/L M 5 Olot = =
AlQH 0.01 olat = mg/L AIA 0.5 Olat = mg/L
as 0.05 Olot = mg/L a2k 58 ~8.5 - =
Aot A A 0.5 013t EZE mg/L (03] 3 0lat 0.009 mg/L
PRENEN 10 ofat - mg/L gda0l2 250 Olat 9.6 mg/L
=8 0.005 Ol5t - mg/L SUN=E 500 0I5t - mg/L
sS4 1 0l&t = mg/L =] 0.3 Olst =& mg/L
H=F 0.005 Olst = mg/L 2k 0.05 0i5t == mg/L
CHOIOKKI = 0.02 Ofat = mg/L &t 0.5 Olot — NTU
Ttetel= 0.06 Olst - mg/L a0l 200 oOl5t - mg/L
HLIEZEI2 0.04 Olot = mg/L 2205 0.2 olat = mg/L
It 0.07 Olot = mg/L SC|TFEL 4.0 Olat 0.51 mg/L
1.1, 1-EC2220E 0.1 Olot - mg/L EECIZZMNE 0.1 Olat E mg/L
HEXUZZZ0EH 0.01 oiat = mg/L 222EE 0.08 Qlgt = mg/L
ECIZZZ0IE 0.03 Olat = ma/L SRILISZEMIE 0.03 Olot - mg/L
LI2Z20E 0.02 olot - mg/L LE222=22NHE 0.1 olot - mg/L
B 0.01 Ol&+ - mg/L E IS (VIS 0.03 Olat = mg/L
E=01 0.7 Ol&t = mg/L CLEZZ0tMELIESY 0.1 Olst = mg/L
Ol ElBIEl 0.3 0lIat = mg/L CIE2220HELIEE 0.09 0I5t = mg/L
Saldl 0.5 0I&t = mg/L ECIZZZ0MELIEE 0.004 Ol5t = mg/L
1,1-CI2Z=0a 0.03 Olst = mg/L SZ0HIEAIE 0.1 Olat = mg/L
ArSSHER A 0.002 o8t - ma/L ISLOsIE 0.5 Olat = mg/L
gS8ard 0.01 oI5t - mg/L 2ets 0.03 Olat = mg/L
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2PN 100 OIS} 0 CFU/mL 1,2-CIEE2R2-3-2c=L=1 0.003 0I5t =- mg/L
EUHEZZ 2AdE E&8& | /1000l | 1,4-CHOISA 0.05 Olat = mg/L
FANNHEFZ =24 SHE | /100m | 3% 300 Olat - mg/L
=1 0.01 Olst " mg/L AR EAYIE 10 OIat # mg/L
= 1.5 0I5t - mg/L EHAY AuS = =
=] EAY 0.01 0Olat = mg/L ey AsS = -
ddis 0.01 OIat = mg/L 2l =) 1 0I5t 0.004 mg/L
=2 0.001 Olat = mg/L M 5 Olat ] =
Algt 0.01 olat = mg/L AR 0.5 0I5t - mg/L
s 0.05 0lat = mg/L =20I2sT 5.8 ~8.5 - -
AZLIOt B A 0.5 0I5t EZE mg/L oreA 3 Olat EdE mg/L
oA 10 0I3t =~ mg/L HA0I2 250 Ofst 8.8 mg/L
JIES 0.005 Olat = mg/L SUAUFE 500 Olst = mg/L
=4 1 0lot ~ mg/L =} 0.3 oI5t EdE mg/L
H=s 0.005 Olat # mg/L a2t 0.05 0I5t EHE mg/L
CtO[OKI= 0.02 oI5t o mg/L =1 0.5 Olat - NTU
Tteter2 0.06 0I5t - mg/L B2MOI2 200 015t L mg/L
HLIEZEI2 0.04 Olst = mg/L 2205 0.2 0lat - mg/L
Jtote 0.07 oIt = mg/L Fel&FEA 4.0 0|5t 0.61 mg/L
1,1, 1-E2ES= 20 0.1 0I5t - mg/L SELZZ2UE 0.1 ofst s mg/L
HEZIS==HE 0.01 Olst - mg/L EZZEE 0.08 0Olst = mg/L
EIEZ=0gd 0.03 0lat - mg/L BERILI2Z2ZME 0.03 Olat - mg/L
CIZ=2ME 0.02 olst - mg/L CE=2S22=0IE 0.1 Olst - mg/L
falbsl] 0.01 0I5t - mg/L ZZSI0I=HI0IE 0.03 0I5t = mg/L
=l 0.7 0I5t = mg/L CLIEZZ20tHIELIEY 0.1 0I5t * mg/L
HIZsE 0.3 Olst = mg/L 22 0NELIEE 0.09 0I5t # mg/L
Saldl 0.5 0I5t - mg/L ELIEZ20NELIER 0.004 OISt ] mg/L
1, 1-CI222u 0.03 0I5t = mg/L EZONENAIE 0.1 0l3t = mg/L
AtE eI 0.002 olgt = mg/L EELHBIE 0.5 0I5t = mg/L
S8 0.01 Olat - mg/L 2els 0.03 Olat = mg/L
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LB 100 0I5t 0 CFU/mL 1,2-CIBE2E-3-25222 8 0.003 ofat = mg/L
SHE=z=2 245 SdE | /100 mL | 1,4-CIOISA 0.05 Olst - mg/L
TALUEET e SHE |/100m | E% 300 Ojat = mg/L
o 0.01 olst o mg/L A E YIS 10 Ofat - mg/L
24 1.5 Olat - mg/L HA AS s =
(s EN 0.01 olat = mg/L 2 s = =
iz 0.01 oIt = mg/L 2l S) 1 Olst 0.008 mg/L
=2 0.001 Olat = mg/L A 5 0I5t = ==
Algt 0.01 0I5t = mg/L AR 0.5 0Ofat = mg/L
3= 0.05 0I5t = mg/L =MI2sT 5.8 ~8.5 - -
AZLIOMEE A 0.5 Olot == mg/L OreA 3 Olat 0.008 mg/L
AMLEA 10 0I5t - mg/L gai0l2 250 Olat 9.2 mg/L
JIEEB 0.005 Olat ~ mg/L EUNMRE 500 Olat N mg/L
=4 1 0I5k # mg/L =] 0.3 OISt sZE mg/L
H== 0.005 Olat = mg/L 2k 0.05 0I5t sHE mg/L
CHOI0FKl= 0.02 olst - mg/L =i 0.5 Olat = NTU
nieter2 0.06 0I5t = mg/L EA0l2 200 Olat - mg/L
HLIEZEI2 0.04 0l&t = mg/L 2205 0.2 0I5t = mg/L
ElislE 0.07 Olat = mg/L FolMFEA 4.0 0I5t 0.63 mg/L
1.1, 1-ECI2Z220E 0.1 OISt = mg/L ZELIEZHE 0.1 Ol&t = mg/L
HEAZSZZ 0 0.01 Olat . mg/L 2Z2EE 0.08 Olst - mg/L
EIEzzogA 0.03 0Iat - mg/L SZ2QLEZ2ME 0.03 0I5t - mg/L
Cl2=2=20Et 0.02 0f5t - mg/L L2222 ZHE 0.1 Olst = mg/L
BIE 0.01 OIst = mg/L Z2Z23I0|=dI0IE 0.03 0I5t = mg/L
E20 0.7 0I5t = mg/L CIEZ220NELIEH 0.1 Olat = mg/L
ol 0.3 Olat - mg/L CIZ22=0HIELIEE 0.09 oI5t = mg/L
algl 0.5 0lat - mg/L ECIEZ20MELIEH 0.004 0OlI5t = mg/L
1. 1-CIZ2Z2Z20€al 0.03 Ol&t - mg/L SZOtHIEIHAIE 0.1 Olgt = mg/L
ANESEA 0.002 Olot = mg/L ESLMBI= 0.5 oI5t = mg/L
SE8ag 0.01 Ol&t = mg/L Fts 0.03 0I5t - mg/L
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